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On The Diophantine Equation x’= Dy’+ 1

Ni Guyan
(Department of Systems Engineering and Mathematics, NU DT, Changsha, 410073)
Abstract In this paper,we study the equation of the title with D general- The equation has nontrivial integer solu—
tions, only when D= 7, 26, 31, 38 or 61, for 0< D< 100 and squarefree. We have got some solutions of the equation of
the title, if D=7, 26, 31, 38 and 61.
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, x’= Dyt 1 , D> 0 p = 1(mod3)
(-2 , D> 2 x’= Dy’+
1 s D> 0
= Dyi+ 1 D , 0< D< 100
1 D , x’= Dy’+ 1 ,
1) D= 7(mod8), p= 1(mod3);
2) 3 h. p= 1(mod3), h 0 - D)
2 2<D<100 D \ = Dyt 1, D=1, 26, 31, 38, 61,

: D , o -D) |, x’=Dy'+ 1
(1+ =Dy)(1-= = Dy)= 4’ a b,
+ 1+ - Dy= (a+ b - D)°, (1a)
x=a+ b’D, y=3a’b- b'D (1a) x’=Dy’+ 1

1) DZ 3(mod4) ;

2) Q( -D) ;

3) Q( -D) ;

4) + 1+ - Dy
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(1a)
+ 1= as— 3ab2D
a=* 1 3b°D= 1% 1, b= 0
1 (1a) x= Ly=0
\ 1), D= 3(mod4) , x’= Dy’+ 1 (1a)
+ 1+ —Dy_(%(A+B - D)), A=B=1(mod?2) (1b)
1
x= Z(A2+ B°D) (1b)
+ 8= A - 3B°DA
A s A== 1
+ 8= 1- 3B°D
3BD=+ 8+ 1=9 - 7
B=+ 1,D=3 D=3,
2 ( 1b) y=0,x=1
5 D= 37 Q( _D) 1 D
=3, [2] x’= Dy’+ 1 .
Q( -D) . h=1 h= 1,
35, h D= 26, h= 6,
x'=Dy’+ 1 3h D , D=1
(I'Il()dg) ) Q( - D) s 2 + 1+ - Dy x
=Dy2+ 1
, 1.
1 , [4,5] .
1. D= DiD2 D 6k+ 1 . D> 6k+ 1 , x'=Dy’+ 1

(P, q)
x - 1= quaz,x2+ x+ 1= pbz,y: ab

x— 1= 3D1qa2,x2+ x+ 1= 3pb2,y: 3ab
p> 0,g> 0,pg= D2, b7 0(mod3)
2. Dp>2p=1 ,(2) (3

3. p>1 (2),
(2Dvga® + 3)°+ 3= p(2b)°.
X+ 3=pY’ 2Y W= at b p.n Z, (4)
{(a,b):2Dga* + 3= an ,2b= b, n 7
4. p>1 (3)
(6Dga’ + 3)°+ 3= 3p(2b)°.
X*+3=3pY 2 Y W.=at ba 3p 0 Z, (5
{(a,b):6D1ga*+ 3= an ,2b= bu, n 7z}
1< D< 100, p= 1(mod3)

(2)

(3)

(4)

(5



x’= Dy*+ 1
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1) 3h, D 2631 38 61 ;
2) D=T(mod8) , D 7,31,39, 79 95

1 D= 38,
x - 1= 6a2,x2+ x+ 1= 57b2,y: 3ab

(12¢°+ 3)°+ 3= 57(2b)°

12+ 3+ 2b 57=% (15+ 2 57)(151+ 20 57)" =% (an+ br 57)
n= 0, a= 1,b=1,x=7,y=3

D
D 7 26 31 38 61
x 2 3 5 7 13
y 1 1 2 3 6

2 D= 39,
x - 1= 32"+ x+ 1= 13b2,y: ab
x— 1= 9> x>+ x+ 1= 39,y = 3ab

(6)  (6a’+ 3)*+ 3= 13(2b)°, 3b, b , (6)

(7)) (18a’+ 3)7+ 3= 39(2h)°,

18°+ 3+ 2b 39=% (6+ 39)(25+ 4 39)"=+* (a.+ b 39)
bui= 4dai+ 25b,= b= b= 1(mod2)
2b= % bn , (7) D=39 x’=Dy’+ 1
D=79 95 x’=Dy’+ 1
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